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LEA LAS SIGUIENTES INSTRUCCIONES
A continuacién va a realizar una prueba que contiene tres ejercicios de comprension de textos orales.

Los ejercicios de comprension de textos orales tienen una estructura similar: se reproduce una grabacién y a partir de
ella se hacen una serie de preguntas.

Cuando le indiquen que puede empezar, dispondra de 4 minutos para leer las preguntas antes de comenzar a escuchar
el primer %’erucio. Escuchara el primer ejercicio tres veces, con una breve pausa entre cada repeticion. Después
dispondra de 2 minutos para leer, o releer, las preguntas del segundo ejercicio. Escucharé el segundo ejercicio tres
veces, con una breve pausa entre cada repeticion. A continuacion dispondra de 2 minutos para leer, o releer, las
preguntas del tercer ejercicio. Escuchara el tercer ejercicio tres veces, con una breve pausa entre cada repeticion.

Dispondrd de unos minutos para revisar sus respuestas y asegurarse de haber respondido en la HOJA DE
RESPUESTAS.

Las tareas o preguntas seran del siguiente tipo:

° Opcién multiPIe: preguntas o frases incompletas, seguidas de una serie de respuestas posibles o de frases
que_las completan. En este caso debera elegir la respuesta correcta rodeando con un circulo la letra de su
opcion en la HOJA DE RESIPUESTAS. S6lo una de las opciones es correcta.

Ejemplo:

[ 1 (a) [ B [c |

Si se confunde, tache la respuesta equivocada y rodee la opcion que crea verdadera.

[ 2 X (@) [C |

° Frases para completar con una o mas palabras. En este caso debera escribir las palabras en el espacio
correspondiente en la I_—|OJAI\ DE RESPUESTAS.
Ejemplo:

| 1 [ espacio para su respuesta |

En total, debera contestar a 25 preguntas. Cada una de ellas vale 0,4 puntos. La calificacion de la prueba se obtendra
de multiplicar el nimero de respuestas correctas por 0,4 expresando el resultado sin redondeo. Antes de responder a
las preguntas, lea atentamente las instrucciones de cada ejercicio.

Dispone de 45 minutos para responder todas las preguntas de los ejercicios que componen la prueba. Utilice
Unicamente boligrafo azul o negro y asegurese de que su teléfono movil y dispositivos electronicos estén
desconectados durante toda la prueba.

Trabaje concentradamente, no hable ni se levante de la silla. Si tiene alguna duda, levante la mano y espere en
silencio a que el/la profesor/a se acerque a su mesa. Espere a que le indiquen que PUEDE EMPEZAR.
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HOJA DE RESPUESTAS
EJERCICIO 1: IS CYBERCRIME A THREAT TO PUBLIC SAFETY?

Espacio reservado para la
1 A B C

2 A B C

3 A B C

4 A B C

5 A B C

6 A B C

7 A B C

EJERCICIO 2: THE INGREDIENT INALMOST | Espacio reservado parala
EVERYTHING YOU EAT

1

2

3

4

5

6

7

8

9

10

EJERCICIO 3: CLIMATE CHANGE AND BIRDS [ Bpacio resenvado paraa
1 A B C

2 A B C

3 A B C

4 A B C

5 A B C

6 A B C

7 A B C

8 A B C
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IS CYBERCRIME A THREAT TO PUBLIC SAFETY?

Adapted from www.bbc.co.uk

Listen to a radio interview. For items 1-7, choose the correct answer A-C as in example 0.

Only ONE answer is possible. DO NOT FORGET TO TRANSFER ALL YOUR ANSWERS TO
THE ANSWER SHEET

0. There has been an increase in ransomware attacks ...
A in Europe, according to a recent report
B all over the world, according to this year’s data

C around the world, according to last year’s statistics

1. According to the man...
A itis not appropriate to move fuel
B itis proper fuel gets from one site to another

C itis convenient to move fuel to a safe place

2. There has been an increase in ransomware attacks in ...
A pipelines and healthcare providers
B telecoms, healthcare providers and education

C nuclear power plants, pipelines and utility providers

3. The aim of a cybercriminal is ...
A to ally
B to rival

C to conceit

4. Which companies have not full-grown?

A banking companies and the like
B big supermarkets corporations

C healthcare systems and education sectors
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5. Theransomware attack she is talking about ...
A damaged the operating systems
B did not damage the operating systems

C occurred in a financial company in December last year

6. Who is responsible for arranging tabletop exercises?
A the board
B the CEO of the corporation

C The board, corporate executives and executives

7. A company is successful ...
A when they consider cybercrime an IT issue
B when they regard cybercrime as critical

C when they do not regard cybercrime as a priority
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EJERCICIO 2

THE INGREDIENT IN ALMOST EVERYTHING YOU EAT

Adapted from www.tedtalks.com

You will hear a talk. For questions 1-10, complete the sentences with one to three words as
in example 0. DO NOT FORGET TO TRANSFER ALL YOUR ANSWERS TO THE ANSWER

SHEET

0 Soybeans are present today in the majority of foods

1 has been popular as it is quite economical and fast to cultivate

2 Soy is used for cooking and as

3 Although it could seem strange, soybeans are also used when making

4 When extracting the fat from the soy, at the same time the machine the
beans producing soy oil

5 Phospholipids are used for the ingredients that tend to separate from each other

6 Soy lecithin joins the of cocoa butter and sugar, while making chocolate

7 Due to its mild taste and , Soy can be seen in many different products

8 Good fats in soy can and reduce the risk of heart disease

9 The heavy industry, processed foods, and feed need soy farms, which
contribute to deforestation

10 A significant part of the Amazon was cleared for planting soy, so if we want to continue to

do so, we should do it
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EJERCICIO 3

CLIMATE CHANGE AND BIRDS

Adapted from www.scientificamerican.com

You will listen to a podcast. For questions 1-8 choose the correct answer A-C as in
example 0. Only ONE answer is possible. DO NOT FORGET TO TRANSFER ALL YOUR
ANSWERS TO THE ANSWER SHEET

0. Climate is getting warmer worldwide and as a result ...
A all animals are getting smaller
B many species are getting smaller

C some wild birds are getting bigger in size

1. This shrinking phenomenon is considered proven in ...
A woodrats
B wild sheep and wolves
C North American songbirds
2. After analysing thousands of data, scientists noted that ...
A some birds’ body sizes were smaller
B some birds’ body sizes stayed the same
C the majority stay the same, but some dozens were smaller
3. According to Baldwin and his colleagues ...
A species with small brains are smarter
B birds with bigger brains can change their behaviour
C birds with smaller brains can change their behaviour
4. Due to climate change,...
A bigger brain birds change their habits
B smaller brain birds adjust the things they eat

C all birds change the places they look for food
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5. The scientist’s group decided to go through the dataset again because ...
A they wanted to reanalyze the body size
B they found birds with smaller brains that did not shrink

C they found birds with bigger brains that shrunk at a slower pace

6. According to Botero, birds with larger brains ...
A are fully protected from climate change
B are not fully protected from climate change

C cannot keep away from warmer temperatures

7. According to the research ...
A the song sparrow has a small brain
B the Swainson’s Thrush has a big brain

C crows have larger brains than the ones in the research

8. Small differences in brain size ...
A are crucial on birds with a bigger brain

B are not so significant concerning climate change

C may highly affect birds when tackling climate change

DL: AS-00310-2023

COMPRENSION DE TEXTOS ORALES.- Prueba Especifica de Certificacion de Nivel Avanzado Clde Inglés.
Convocatoria junio 2023



